Efficient condition (2) x, —x, = (1-y, )7,

Claim 1: When 71, > p7n,, then strikes cannot be efficient.

Proof
Consider a strike mechanism = (y, X, . %)= (L%, +@- y, )72, W, X,) which

satisfies (2), withy, < 1
We want to show that there is a mechanigm more efficient thenu , where

=55 %)

(2)
=[x+ - ), 1, + 3%, + p0) ,
= (1.0 + p77,8)+ (1= 1, - 0)71,. 1, + 3, %, + p7,0)
o is a small positive number.
Computing the informed bargainer’s payoffs with and z".
Good Bad

A Vo, = X :ng—lxb+(1_yb)ngj Volly =X, = Vol — X%,

= yb]Tg - Xb
O
By -xg=m, =[x + pr,0)+ (- - 0)m, | o - X = (1 + 0)m, - (x, + pr7,0)
= VoTly = %, + 071y = 71,0 = VoTh, =%, *+ 0T, — p7T,0
The resulting changes in expected payoffs to tfenmed bargainer in the good states
is
AV, = (VE”g - Xg)_(ygﬂg - Xg)= (ybng =X, + 0, - pﬂga—)_(yb”g - Xb)= or, - pr0 >0,
the resulting changes in expected payoffs to tfeenmed bargainer in the bad states is
AV, = (1, ~35) - (%7, = %) = (7, =%, + o, — p,6)~ (1,77, =%, ) = o7, — pr7, 5> 0;
the resulting changes in expected payoffs to thefarmed bargainer is
AU =[px+(1- p)x]-[px, +(1- )]
:{p[(xb + p”95)+ (1_ 14 _5)ﬂg]+ (1_ p)(xb + pﬂga-)}_{p[xb + (1_ yb)ﬂg]+ (1_ p)xb}
={pl-y, - 0)m, + %, + prr,3}-{pl1- 13 )7, + %}
=-pr,d+pro=0.

So u" is more efficient thenu ; i. e. , strikes cannot be efficient.



Claim 2: When 71, < p7n,, then least one efficient strike mechanism exists.

Proof

Consider a strike mechanigm= (yg + Xgs Vs xb) = (], n, ,0,0).

Assume a mechanisn"” (yD X3 15, xb) (:Ld+(1 o), 5d) is strictly

dominateg:. So we get

p(l-0)rm, +d = pld+(1- )]+ ([L- p)d = px; +(1- p)x. = px, +(1- p)x, = p77, -

@ < prt

= 02 prr, - p(1-8)r1, ~d = pdrg, ~d > O, ~d = )7, ~ %=y, 77, - %, =0

an contradiction.
Claim 3: When 7z, > p7z, , then 1= (y,,x,, 1. % )= (L7, 1 7,) is the best

mechanism for uninformed bargainer.
Proof

:u:(ygvxg!ybv ) im(lxb’l’xb)
ma><{pxg+(l p) }=ma){xb

Claim 4: When 73, < pr,, then "= (yg,xg Vo xb): (J, T, ,0,0) is the best

mechanism for uninformed bargainer.
Proof

ﬂ:(Vng’Vb’Xb):(le +(1—Vb)ﬂg,yb,xb), where

(IR)g O=ym X, =m X +(1—yb)rrg =2m, =% 1LY,

The possible region is




So the vertex of the possible regioni(s 7, 00),(1010),(1 7, 1 7,)}.
The target function

u, (1) = px, + (L= p)x, = plx, + (1=, )7 [+ (L= p)x, = %, + L1, )7,
So u,(L 7, 00)= pn,,u,(1010)=0,u,(L 7, L7,) =7,

Claim 5: When y" = (yg,xg,yb,xb): (:LO,],O) is the best mechanism for informed

bargainer.
Proof

Assumeu:(yg,xg,yb,xb)-

When the true state is goardax{ygng —xg} =, ,wherey, =1x,= 0

When the true state is badaxy,7, — x,} =7, , wherey, =1,x, = 0
So in whatever situationy” is the best mechanism.



